e Az Hd / 24

Azt EA| GDP #HstE ( d2{st EA| GDP #Hzls =) ¥

/g 3 5t
st FA| GDP ¥atg ) H2{3t 24| GDP Hatg =) H/de & 45
Fot7kz| = 5 + A + oz} + o] &
= ol 24 — S22 74 WE
Z|Z GDP = vzt 4| + BIZF 22} + HH 2|& + £4o2(=42H -4

2l GDP = o3 + |t + ozt + o] F

Zu| 24k 2(-) = ZH 47| 2}
Zu| A4 OF(+) = 2| 42| 2zt

U AT 47| = e 0|2} 5 2L AS /U 5 en) A LS
AL 42| = 0|2 A3 5 ulMAL 3 A 23}

FE AR = A%, 29, 7ot £2F Y B 24 en) S22

X2 ots A5 = A~ dlrd 22

46| 2|2 = 254, $4HE S

ol4u] 2% = 24, b2 olxt, £HE, 4F 5

AolZ' = 22 AS
o2 99 A3t = 29 F 7|3]u| g 27}
o2 49l M3t = 2 3 7|5e| 8 %A




Wl <o

—4—

O o T

oy oG

o ..ﬂult I__/l I__/|

T N
A—o |=_ﬂ| Iq_/l ,An_ \./ \_/ MM. 27—0
A, == Z—O L—AD — N
<0 Mo <« 5D 5D

N
o?_ or.__ u_..m JH Mo ~no AT AT
ﬂvlt ﬂvlt N 10 me .x.,.o

~ o~ ol il ol o N

Vo) ST of Mo wjo Klo NO
g8 T D
o o Iv_AI L I.._AI L <} <}
o 1ol X X

M M olr X ol &T T
o 6" X X X X L o
opop  F kb T
S° ° X0 Yo KO %o offu ofw

Norfe TOT  WORWe o oM

| | | | | | | |

A+ 4 x 100 (%)

2 4/ 154 o|4F T 4 x 100 (%)

s=3

F

- GDP t|Z3o|g{ = = GDP / A% GDP x 100




